1.

& 982

v A75

¢+ DW

& DWg62

6.

& AD6

¥ AD753
+ A864
& A

11.

& K83

¥ W8543
¢ 62

& KDW

16.

& AWI107532

¥y W106
¢-
& A76

QUIZ NR. 85

REKA E
2. 3. 4.

& W10972 643 s AK3
v73 YAWIO ¥ 1087652
¢ A72 + D73 + A9

» 843 * W962 & AD

7. 8. 9,

2 D1093 2 K8 a A532

vy DW72 v DW5 vK

+ AKDW ¢+ DW10983 ¢ 109874
*7 » 83 & KDW
12*, 13*, 14.

a AW & AW a W10

v D94 v AK73 v KW53
+ KD1074 +W1082 ¢ DWS6
* D74 & KDW » D64

17. 18, 19.

2 AW106 4952 » W86

v AK732 v AKW106 ¥ ADW73
+K5 + D94 * W942

& D4 » 85 & A

1) S licytuje 2 ¥ (stabe)

2) N wchodzi kierami, lecz tylko do poziomu 2-ch
3) Notwieral ¢

4) N wchodzi treflami
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10.

& AD96
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& K763

¥ W109
¢+ AS
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20.
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